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2J|Y HIISAZAIMNERS (20254 227])

ALS (HE) EALEAINE AX BT
g2 A a2 UASHERA T ARA| S22 20
227 AL 1,429,750 (E/27) H7|E ALEH 272,039.4 (E/&7])
AlHIE A A 1,495,000 (E/£7]) H7|E ALEHIE 18.78%
H7|E A" 23
CaTE e ourlg uex| NTEHEE ooz aux| o B sleg | sz P o2
(mg/kg) (mg/kg) (mg/kg) (mg/kg) (mg/kg) (%)
P 280,844.60
7t 0.01 oh shol = 1.255 3.549 - 1.087 0.002
Lt 44174 |  rystal=m 6.100 63.146 0107 | 15.147 0.051
of 13,104.90 |  Cyarol= 1.466 335.453 0.459 |  12.901 0.011
RS 2} 494382 | rystal= - 46.257 0.191 6.626 0.002
(51-02-01) of 3,804.22 | = 2720 18.095 0.455 6.997 0.337
o} 183.26 | cystol= - 31.060 0.140 7.100 0.023
A 12,088.94 |  Cyatol= 0.023 74.346 0.075 9.514 0.077
of 905.63 | rhstol® 0.170 59.951 1.285 9.382 0.039
1 o] 2o|MoL X 6,139.63 | cHztnl= 03.373 132.125 1770 | 17.589 0.418
(51-02-99) x 1,584.06 | cfstal= 9.285 18.203 0.197 4.741 0.008
7t 164226 | stz 9.465 46123 0.471 1118 0.021
Ef 4552 | istal= - 25.413 - 3.857 0.007
3(55":9_'04?‘_7‘?5"' ot 2217417 | therolz 6.227 56.934 0.661 | 13.563 0.192
S 3t 119.04 | oystol= - 24.039 0.597 6.517 0.008
7t 108452 | rjstai= 29.908 159.396 2391 | 13.053 0.163
Lk 8.848.79 | diztol= 13.255 43.325 0817 | 19.336 0.134
(51Aj415£fH03) Ck 2962029 |  rjstal= 7.008 32.699 1.069 4.451 0.002
2t 405432 | tistol= 15.634 36.302 0.607 8.580 0.228
oF 221 41 Cfstal= 6.811 49.371 1.300 3.099 0.004
_ HE 9.397.48 | diztol= 19.559 106.119 2.724 4.070 0.006
i*?ﬁ%gfﬁ” AF 2,928.30 | tHztal= 9.439 112.982 1.658 8.098 |  0.004
of 8,580.82 | chstal= 9.477 130.365 2.159 8.064 0.005
Xk 3407.87 | diztal= 10.225 169.454 1.865 6.146 0.004
] F 5286.42 | cystal= 7.265 64.240 1.303 4.018 0.003
Ei’%_’%gﬁ%“ 7t 14,385.95 |  Cjstol= 7.541 79.648 1.444 4.465 0.008
Ef 418541 | cstol= 7.495 41.908 0.848 4.091 0.006
B &R (51-11-02) I} 0218.24 | EoI= 4.941 102.361 0.582 3.562 0.367
S ot 2538.00| Cjztal= 22 620 41.692 1.341 8.871 0.009 0.123
H Efo|of A 1,106.21 oistal= 35.909 47.678 2.606 1.596 0.110 0.072
(51-15-01) 4 422.93 fstol= 26.331 99.345 8.418 3.856 0.028 0.098
o 1200068 ofstal= 47.001 182.538 1.083 7.872 0.460 0.519
2] 10,066.79 |  cfstal= 30.223 313.698 1.811 5.949 0.316 0.718
o 1505.60| rjztol= 28.413 82.266 1.906 7.867 0.230 0.688
] 2118.37| oHstal= 24 549 96.976 1.507 4.819 0.260 0.413
M 8,193.01| oHztol= 60.797 104.892 2.706 6.593 0.155 0.550
of 9.644.43| rhztal= 73.882 146.268 1.743 1.631 0.150 0.432
x| 1,603.59| ohatol= 21.378 75.345 1.234 9.213 0.119 0.464
Y 10,375.59| ciztol= 28.020 85.475 1120 7.166 0.150 0.593
7 47112 |  ystal=m 186.700 101.100 5.328 5.483 0.227 0.574
f 239.09 | cyatalm 102.889 196.295 7.290 1.300 0.191 0.762
H 767585 cjstal= 126.057 143.644 3.040 5.816 0.428 0.711
3 20.38 | ystal= - 1.100 - - - 0.570
ooz Py 03450 | rjstal= 142128 175.955 1.616 2845 0.197 0.525
N ¥ 213.44 | ymtalm 58.616 102.587 1.836 | 10.986 0.092 0.693
fg%ﬁ?_zlf o 9811 | chstal= 29.145 54.985 1.215 2583 0.542 0.429
24 77358 | Cjstol= 127.550 151.530 5.733 2778 0.374 0.774
o 552.63 |  rjstol= 43.940 124100 1.718 8.486 0.327 0.766
" 3120.78| diztol= 138.569 92.796 1.748 9.744 0.586 0.740
M 143272 oatoi= 62.661 416.456 2.131 9.513 0.308 0.853
of 2516.45| Cistal= 22170 53.250 1.009 7.739 0.274 0.774
X 394.91 | cyaol= 73.826 91.489 4.498 4.469 0.238 0.713
Py 169.61 | chstal= 1.398 38.194 0.599 6.155 0.036 1.471
7 11,455.12| ojgtol= 75.189 242 838 1.956 5113 0.230 0.585
= 12,166.69| chztal= 17.077 266.826 4317 6.229 0192 0.436
o 3,377.75| tHstal= 17.959 170.299 2.286 3.433 0.302 0.629
5 271472 ez 44 575 103.990 1.087 6.074 0.532 0.566
2 8,896.99| rHstalR 61.885 143.939 2.788 6.141 0.225 0.513
w 1819.58| ojstol= 54122 459.337 1.245 1.494 0.193 0.513
= 327.27| cystal=z 53.195 87.447 0.954 0.912 0.225 0.802
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